SISEL HEALTHIEST COFFEE IN THE WORLD

After all, 85% of the world drinks coffee. Coffee is the 2nd most consumed liquid after water. Coffee is the 2nd most traded commodity after Oil.

We now have a business plan leading with the coffee!

Warren Buffet says if you love to do something, make it your hobby, if the world loves to do it, make it your business!

8 min video the coffee as a business and superior product with Steve Farr. https://youtu.be/8U2ThpUmMF

14 min video by Tom Mower Sr. about Kaffe https://www.youtube.com/watch?v=ZyF9oAvAe3M

8 min Coffee Business and Product: <u>https://www.youtube.com/watch?v=61jgWJ8uzmk</u>

Share a Cup of Coffee with Everyone You Know!

Your friends will totally love the coffee!

Provide them with the Price Sheet attached.

3 bags of **Premium Black Ground** or **Instant (\$27)** \$ 31.00 x 3 bags = \$93 \$ 34.00 x 3 bags = \$102.00

Large C = CUSTOMER - No cost to place an order's Large D = TEAM MEMBER - \$24.95 for 1 year. Renewal \$17 /year. Tax deductible. Receive a Free SISEL App with all the videos and products Income from Coffee Sales

\$31.00 X 3 Bags = \$93.00 X 25% = \$23.25 Commissions X 25 people =

\$581.25/Week X 12 Months = \$ 6,975.00/year.

\$31.00 X 6 Bags = \$186 X 25% = \$46.00 X 50 People =

2,300.00/Week X 12 Months = \$27,600.00/year

That's ONLY Coffee! Currently 58 superior products.

SISEL Pay's commissions directly to you into your back office Pay-Hub every Friday! 25% commissions paid on all orders of Customers.

Business Partners

Wealth builder Packs- 6 packs to choose From (New Partners can Only Purchase 1) Wealth Builder Pack.

* Wealth Business Builder Partner Level \$ 600.00 PV before Shipping & Taxes

Enroller earns WBP \$ 100.00 US up to \$150.00 US on the Wealth Builder Pack.

Earn 25% Commissions for First Month additional Products Purchase. Sample. PV personal Volume.

\$600.00 PV less Wealth Builder Pack \$347 cost - 253 PV X 25 % = \$63.35 Enroller Earns Commissions WBP \$ 100.00 Plus, \$ 63.35 = \$ 163.35 * Enroller Earns Commission WBP \$ 150.00 Plus, \$ 63.35 = \$ 213.35

Wealth Business Builder Level You Will Work 6 hours per week.

First Level to Achieve STAR 1 5,000 TEAM Volume To Qualify For All Bonuses. You need to achieve this 3 Consecutive Months Divide 5000 Team Volume divide by 600. PV = 9 New Partners *You and 8 New Business partners in 1 Month. Each Month you will help your Partners Enrol New Partners to Achieve Star 1 5000. Volume x 3 months. * Wealth Business Builder Pack. \$ 500.00 US before Shipping & Taxes

Earn 25% Commissions for First Month additional Products Purchase

Sample. \$500.00 PV less Wealth Builder Pack \$347cost 153. PV X 25% =\$ 38.25

Enroller Earns Commission WBP \$ 100.00 Plus \$ 38.25 = \$ 138.25

*Enroller Earns Commissions WBP \$150.00 Plus \$ 38.25 = \$ 186.25 Wealth Builder Pack Level: You Work 6 hours per Week.

First Level to Achieve STAR 1. 5,000 Team Volume in 1 Month To Qualify For All Bonuses. You need to achieve this 3 Consecutive Months. Divide 5000 Team Volume divide by 500 PV = 10 New Partners to Achieve Star 1 Level.

Each Month you will help your Partners Enrol New Partners to Achieve Star 1 Volume 5000 x 3 months.

* Wealth Business Builder Pack. \$ 350.00 US before Shipping & Taxes

Earn 25% Commissions for First Month additional Products Purchases.

Sample. \$350.00 PV less Wealth Builder Pack \$347 cost *In 5 – 15 days - Add Additional Product to try. Enroller Earns Commission WBP \$ 100.00 *Enroller Earns Commissions WBP \$150.00 Wealth Builder Pack. You Work 6 hours per Week.

First Level to Achieve STAR 1. 5,000 Team Volume in 1 Month To Qualify For All Bonuses. You need to achieve this 3 Consecutive Months. Divide 5000 Team Volume divide by 350 PV = 15 New Partners to Achieve Star 1 Level.

Each Month you will help your Partners Enrol New Partners to Achieve Star 1 Volume 5000 x 3 months.